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Statisticki PM,y EC ocC TC  OC/EC
parametri

N 31 31 31 31 31

S |y 498 1.4 14,0 154 10,3

S | STD 18.9 0.6 5.8 6.1 3.6

| s 15,9 0.7 4,1 5.0 3.4

= | A 100.9 2.6 30.5 33.2 17.0

medijan 1444 1.3 12,3 13.6 10.5

N 30 30 30 30 30

S |y 23.6 0.8 5.3 6.3 7.7

S | STD 9.8 0.3 1,8 2.0 3.1

T | Ymin 6,7 0.2 2.4 2.6 3,7

+ | YVimax 46.6 1.5 9.8 10,9 15.4

medijan 22,6 0,7 5.3 6.1 T

N 31 31 31 31 31

S | v 20.1 0.6 5.2 5.8 8.6

S | STD 8.3 0.2 1.9 2.0 2.6

T | ymin 155 0,2 1.6 1.9 3.5

— | ymax 35.1 0.9 8.3 9.1 14,8

medijan 20.0 0.7 3,5 6.0 3.2

| N 31 31 31 31 31

= | ¥ 30.3 1.1 8.8 9.9 8.6

& | STD 9.3 0.5 2.9 3.2 2,6

s | ymin 10,2 0.4 2.6 3.0 4.4

S | ymax 46,7 2,2 14,8 16.4 13,5

medijan




Statisticki
parametri

L.mnj. 2010.

N

v
STD
Y min
'.i’rmax

medijan

31
1.3
0.6
0.6
2.8

3l
135
5.6
3.9
29.8

31
o.a
4.2
3T

20.1

4.1mj.2010.

Fatii 2.6 0.2 2.1 2.6 3.3

- 38.1 1.1 9.0 9.8 15,5

medijan 158 (.6 4.6 3,3 7.8

N 31 31 31 31 31

S | v 13,7 0.5 4,1 4,7 8.4

S | STD 6.1 0.2 1.8 1.9 3.2

"= | ymin 3.3 0.2 1.1 1.4 2.8

— | ymax 26.2 0.9 T3 7.9 16,2

medijan 12,7 0,5 4.2 4,7 8,2

| N 31 31 31 31 31

= | 7 24.7 0.9 7 8.6 8.2

& | STD 8.5 0.3 2.8 3.1 1.8

E | ymin 6.3 0.4 2.6 3.0 4.8

S | ymax 38.9 1.6 13.0 14.4 11.8
medijan &




Statisticki
parametri

PM,

EC

N 31 31 31 31 31
S|y 37.7 1.4 11,2 12,7 8.8
S | STD 14,7 0.6 4.9 59 3.8
= i 12,1 0.6 3.6 4.4 3.3
2| Yoax 774 2.6 by gl 30.3 18,9
medijan 35,6 1.3 10,1 11,2 9.1

N 30 30 30 30 30

S | v 143 0.6 4.4 5.0 7.9
S | STD 59 0.2 1.5 1.6 3.1
"= | Ymin 6.0 0,2 1.9 2,3 2,9
| Vmax 28.1 1,2 7.9 8.5 14.6
medijan 13.3 0.6 4.3 4.7 7.6

N 31 31 31 31 31

S| v 11,5 0.5 3.6 4,0 8.5
S | STD 5.1 0.2 1.3 1,6 5.1
"= |  vmin 1,5 0.1 0.8 1,0 2.8
— | ynax 21.9 0.9 6.2 6.7 29,9
medijan 11.1 0,5 4.0 4.5 8,2

| N 31 31 31 31 31
= 7 19.0 0.9 6,0 7,0 6.8
& | STD 6.3 0.3 2.1 2.3 1.8
s | ymin 4.3 0,3 1.9 23 3.0
S | ymax 30.8 1.5 10.2 11.6 10.5
medijan 18,7 0.9 5.8 6,8 7,0
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